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Question 1.

TS b1 G T S TR W =i H i gair
(a) FeT 19111 g3l

(b) T8l shiferal g8

(c) T8] SRTSTehT

(d) 981 &1 f[dbT 3avg gafl

¥ Answer

Answer: (b) dgf ifadl g5

Question 2.

TGS & AR YH F1 g A1MgE?

(a) HIGR ¥ RCl BT

(b) &l 3TATS H AT STIHR FoTHT

(c) RISl &I @R Rgarn

(d) &¥, R 3R 3T & & BT J§Y g1 AT

¥ Answer

Answer: (d) 4H, S8R 3R 3T & & BT Y¢ g1 ARTY

Question 3.

ATH 1 759 o9 R 9 fear 82
(a) TG TSI

(b) YGRRUN I

(c) 3MRal BT

(d) T SY-dY BT

¥ Answer

Answer: (b) R&ERUI @Al
YSRRY 3 W §d 1 g

Question 4.

o T 8?

(a) WIS & JaT Bl
(b) SHMER ¥ Sita faar
(c) WA W & &

(d) ITgad ot

¥ Answer

Answer: (d) Iudad qut



Question 5.

WE® & foaR fodd FRIR Rig 8 9od 872

(a) TGH & TR BT TRV FRb AFTHE BT BTl 8 Tobdl §
(b) &¥ oI ggrar i IohdT §

() U ¥ FiTeTdehd THE 81 Tohdl §

(d) Iwdad T+t HUT I B

v Answer

Answer: (d) Sudad It BT Id g

Question 6.

TATH ART B A F BTl IoTd 872

(a) Riféa @ 4

(b) 39g AN I

(c) U ot A S AR e &1y guea §
(d) IS T 91

v Answer

Answer: (c) T T § S AR ded & 4 I7gid &

Question 7.

Y F A R IHE N TN FS B I IR 8d 82
(a)auﬁwr{%%umwé?@aéﬁ%’

(b) T 3t T Uy g R 3d &

(c) A A B U A 3 &

(d) 9 3T U101 & ¥ el gexId |

¥ Answer

Answer: (d) d YA UI0T S ¥ 8l gaRId |

Question 8.

i P13’ UTg | AW A fob it b1 ST fohar 872
(a) o o & 3re | Ffed ard Iad &

(b) S ¢H 1 3TS AR 3T Wi Rig Ha ©

(c) Sl 4H BT 3 AP TWSIAGdT had &

(d) Iwdad Tt HUT I g

¥ Answer

Answer: (d) Sudad @t &y I Bl

Question 9.

oI XfepR faeedf St T ST P garm ur?
(a) ¥ 1891 H WIferaR |

(b) ¥ 1861 T Hiura &

(c) T 1871 H &R H

(d) ¥ 1881 T SR H|



¥ Answer

Answer: (a) 9 1891 ¥ Tarferr o
Question 10.

' BT TS’ IS b 4GP DI 87
(b) $ReH ATed

(c) O Tepv faemelf

(d) TRG SHRM

¥ Answer

Answer: (c) TTOIRT YR faemeff

Ifed AT & 1Y A HRd g AR R HRA

(%) HYRY ¥ FHR0 ASH T & o
A 92 W =0 wE 4d g ¢

(@) =9r WYRT SAEH 86 & e F
= FH?

(m) fag=s w9 o y=r =%,

(%) 7@ q=m ud F gEE 4

4 o =R w5 e & fag,
(9) YET R FEER 6@
(®) e e o St s e 3 9

(¥) b it T & W W fFy I o

TR ded @ w9 o o gueE
Sﬁ'{ﬁ?—fﬂ?fﬂﬁﬁ%

e 3R ol & Y SE B =)

3 Uk T oyl & fa weR w1 FER A
g 3t fuE Y e & fou wo A AW
aifera 2

IO YFR 99 ® 95 H 9F 7§ S

v & e fag €

v Answer

Answer:

(@) e 3R A B 38 P RO Y07 G 1 AN B

(W) IHR Yed I8 81 98 (U1 YH JH 8
(TT) S YBR o1 BT YIGAT BT 30 T H 14|
(9) 3R <H-dH fred &1

(¥) T8y 3R Tgdl & 1 I&NT g1 A1
@) oo & Wy 75

(®) 3 T g1 i yH & o1 Tem Bl TR

TE BYT P I (V) TAd HYT S A (X) BT [Ig TS|

() ST 1, TG ST, TAN ST & ¥ g

v Answer




Answer: (X)
YSFRRY B 81 44 8 3 49 & a1l 9ev §

() 3ATSThd AN JENSsR BT 4H JH &

¥ Answer

Answer: (V)

(TT) YSTER HAT &) Jad §3T 4 g |
¥ Answer

Answer: (V)

(9) FfS B IR 47 B IR I b FRATD 3|

v Answer

Answer: (V)

() TSR aTdt 3FUg ANT T Al ¥ 3/ gl

¥ Answer

Answer: (V)

(@) 4H DT 3T H AN SR B Raya 3 B

v Answer

Answer: (V)



